Parts List .«..x:

3 papUEN

Model: AC266STD 18—V Zha—F 524980






HEaTROTHERIZDINT

1. EREDTEX DB

wiEs (BX) - BRES - BBHREW - MEZTHIEZEL,

INTEATIAG (X BI R DEE R E ZSRBZEL,

MamlEwnd THRILMIESRSR ] Z2THERATIZEL,
AERRITEBRLIZLDEHYFET .
AERIBRDAFELGCEETHIIENHYFET

Fig. DRRIZTDNT

AFAMR—=UIZFig XXBSRBERTLTHYET . COXXKITAFAIM—D
ELDORHELBEZTERLET,

o a ks 0N

X

T 2R I eeeeeeeeeesessseseseeeeeeeseeeeeeeeeeeeeeee e 1~2
2. IOV (DTUDT =R DU e 3~6
I SRV QU b B 190 R St 3 B 7~38
4. T (FvTLR BEBFUD) eeeessessesiessse 9~ 10



1.AC266STD




RHEES | HaES B & & &% &

1-1 364925 | AC266STD 1
1-2 226792 | TUNTIVY 1
1-3 239362 | R IYUNAhUTbA 1
1-4 236345 | IVT7T 1
1-5 226918 | A4~ LERM)Z 1 [ 6~87494
1-6 226988 | FTAIRY (4) 1 | M5X18
1-7 012487 | E3%'h'% 1 | M5
1-8 126993 | 6 KTk 1 | M5
1-9 228446 | NUNIWM)YTATY H38T 1 | 107494
1-10 092561 | 6 K9 Wb (+)SW 6 | M5X25
1-11 012382 | Ch'4kin 1 | H36
1-12 238894 | ¥’ vH-A934T AR F Y 1 [13~19744
1-13 234109 | 6 Y Wb 1 | M8X8
1-14 092550 | 6 9K Lk (+)SW 1 | M5X25-7T
1-15 232927 | NEJRRA 1
1-16 238895 | NnE/RAB 1
1-17 210308 | 7UTANY 1
1-18 215610 | 6 H9# Lk WSW 1 | M8X22 t4'1)
1-19 089737 | 6 YK Wb 1 | M5X12
1-20 220549 | F194v-4 1
1-21 242559 | 2—L7°L—} 1 | AC266STD
1-22 231654 | NJv—=4 1 | ECO
1-23 237718 | nUNIL A RS 1 | E%Y
1-24 236358 | AUNIL B ThA 1 3%
1-25 560622 | MJA'LIN=934T 1 26794
1-26 560182 | 3A°) 1 |a9-71
1-27 235749 | ARYRMLIY 1 |810L1/0O 78
1-28 234549 | AV -bF1-T 1 | 660L
1-29 220533 | hAhTINUNHIET 1
1-30 222821 | Y AVAVAN =934T 1 | 317294

-31 092561 | 6 H9K Lk (+)SW 2 | M5X25

-32 224693 | ¥Y77Y— 10 1




=R

2.AC266S
95270

A E [P

66

/

\/

\
/
,

\



RHES | BHRAES B & FR B % i
2-1 875456 | IVYY 1 | EE261/38
2-2 273153 | V)& 1
2-3 282330 | I AHYH 1
2-4 261250 | 6 h97FYEK ILE WSW 4 | M5X20
2-5 282579 | 41U¥1L—4 1
2-6 267049 | H'AFYb 1
2-7 269826 | A1y (+)WSW 2 | M5X25WSW
2-8 246656 | ¥757tV7") 1 [9~11744
2-9 246663 | HATYb 2
2-10 246662 | T4NAV7)—h 1
2-11 246731 | 6 W97 V%K Lk WSW 4 | M4X10
2-12 266402 | 6 HY7HYEE I WSW 2 | M5X55
2- 247074 | B AFYb 1
2- 246083 | TV —hin - 1
2-1 269827 | A1V (+)WSW 1 | M5X16
2-1 247230 | M7 -3077)—b 1
2-1 563151 | A4Y1 1 | M6X15
2-1 261878 | Tk 1
2- 246082 | F7A3%Y (+) 1 | M4X12
2- 273673 | 470902 1
2-21 280488 | ATYUY 2 | PPL 6001
2-22 261492 | #AVY—=)b 1 |1SCD12287
2-23 261386 | A4LY—IL 1 | I1SCD12227
2-24 055185 | C h'4krn 1 | H28
2-25 261612 | 6 H97FY£K L WSW 3 | M5X30
2-26 273155 | E'AbY 1
2-27 261496 | E'AMYVY 2
2-28 261497 | E'AMEY 1
2-29 261037 | ==NILAT7YLY 1
2-30 261576 | ¥=49Yv7° 2
2-31 277939 | 47V9% 7030 77)—b 1
2-32 284786 | 47VFTEV7) 1 |33 ~357494
2-33 284702 | 43VFHK A 1
2-34 284787 | 479Fv1 2
2-35 286554 | A7°YuY 2
2-36 284706 | 27Uy 1
2-37 284704 | 7YY 1 | 5.1X14X1.2
2-38 285220 | A%Y1 1 | M5X10
2-39 246958 | 77UAN-TtU7Y C 1 |40 ~ 44 791
2-40 246959 | I7UAN =TT 1 | 41,42794
2-41 269124 | ATy 1 | 62002z C3
2-42 013825 | C h'4kin 1 | #30
2-43 289727 | 47VFN343077)—F 1
2-44 014210 | Ch'4kin 1 |S10
2-45 269831 | A1y (+)WSW 4 | M5X20WSW




=R

2.AC266S
95270

A E [P

66

/

\/

\
/
,

\



RHEES | HaES B & & &% &
2-46 246531 | 7°BT9YAVhN - 1
2-47 246787 | NAUNIARY (+) 1 | 5X18
2-48 277913 | 5271V 1 | 49 ~ 5574
2-49 286282 | 0—4 1
2-50 282693 | 19 =9AVAMNTEYT) 1 |51 ~ 55794
2-51 267401 | 24l 1
2-52 282694 | 1—-NT7HEU7Y 1 |53~ 557494
2-53 261074 | 7°539°%¥V7 1
2-54 261075 | 794 1
2-55 282695 | 31— 1
2-56 261076 | nuryE— 1
2-57 284703 | Y¥7b 1
2-58 280381 | AA"—1 2
2-59 261256 | 6 h97+H Y%K Lk WSW 2 | M4X25
2-60 286739 | AN=97'34" 1 | CJBY
2-61 267492 | J—-F 1
2-62 282880 | )—N 1
2-63 246078 | 4'OAYb 1
2-64 264588 | 457" 1
2-65 269705 | 38N 1| X5y 5 vy
2-66 274191 | 3~ 1 | A94UFa94




3.AC266STD IT>>>
UOAILREY =4

14




HaEs

B

7|\

282404
282405
283411
283412
280930

280931
267213
280932
280933
267219

280934
280489
269833
272207

AW RE=4T 1077
A8—474077)

=

hL7' L+
FyN=27uY

ANATNAT YUY
YRS
A-77tv7")
A4—4n-7
A4—-4)7"

7=7tv77)
FAIRY (HWSW
FAIRY (HWSW
NN

— o — — o — )

—_—— N —

2~ 11794
3~ 10794

9,10 744

M4X20
M4X16WSW
797998 R 25—+




FrILS. BRS>0

4.AC266STD I >>>

AN
<




RHEES | HaES B & 1 &% &
41 273708 | ¥¥7°LAT7EV77) 1 |2~15744
4-2 281597 | KV7KT4 1
4-3 262991 | NV K'T( 1
4-4 262992 | KVU7h - 1
4-5 261874 | 7347 1
4-6 283905 | #'1¥77L 1
4-7 262993 | H'AHYb 1
4-8 262994 | 4'4%77L 1
4-9 282576 | H'AHYb 1
4-10 285030 | Y'IYhk 1
4-11 261871 | Oy’ 1
4- 261876 | vy’ 1
4- 261658 | A4AIL 1
4- 264682 | A%Y1 2
4- 262996 | A%Y1 4
4-16 261864 | HAHYb 1
4-17 246909 | T—A7tV7) 1 [ 18~ 23744
4-18 246541 | h—Ri&'T4 1
4-19 246538 | NIL7 1
4-20 246540 | Lin'— 1
4-21 284816 | 7VvY 1 | 6.4X11X0.15

-22 269032 | A%Y1 1

4-23 246626 | RY)-7 2 | 55X7.1X3
4-24 269030 | ILAVk 1

4-25 281777 | FA 2%V (+)WSW 2 | M5X55WSW-7T
4-26 246623 | 4Y—+hn— 1

4-27 269031 | A4Y1 1 | M5X12

4-28 273735 | 497w 77Y 1 |29~ 39744
4-29 273467 | 71-I\4YY 1

4-30 275306 | AU9%YV 7 TR 1 | 317494

4-31 274875 | NYXY 1

4-32 261696 | 7°1)—%"934T 1

4-33 265752 | #VYAUNATTEUT) 1 |34 ~39744
4-34 264031 | N47934T 1 |35~ 37744
4-35 261115 | 4'0A9p 1

4-36 261690 | #3AINA7 1 | 160L

4-37 263038 | A—n"70-nN47" 1

4-38 277887 | 7ANATEV7) 1

4-39 261117 | 997’ 1

4-40 269828 | TAIRY (W)W 2 | M5X16W
4-41 281208 | A IRV (+)W 1 | M5X16W AY4
4-42 281596 | 3A°) 1 | F3-9

-10 -




5.AC266STD
F B fm




RH®EE | BAES B & & W R ii%
5-1 221460 | K3 Ah'% 1

5-2 220534 | AYnhn'— 1

5-3 210418 | AVE' R VHAANT 1

5-4 219431 | 6 hoR 9ANT 1 | ZAUnN 3

5-5 022865 | YIAVYFANT 1 | 8X10

5-6 242560 | M)7Uh4EYAM3 1 | AC266STD

-12 -




& X

Q = ULRETR
BHEHRBEXRZEO

fLyR—- b 42— EE 0120-898-114
ZFIFRSRS: AM9:00~PN5:00(X. BH. 1A % <)

WEERAEY Printed in japan 2020-04.J






